7T /Mathematics

301 JA9-T8 TGN / Vedabhushan Third Year Set A
W/W-B / Class 8% / Prathama - 3

9 93 & / Que. Paper No. :

II1/22-23 /Mathematics/

SiTS R ¥ ST®T / To be filled in by Pratishthan
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o / i / e / e % SRR
Subject Max. Marks | Marks obtained Sign. of examiner
Tt/ Mathematics 100

& fred & aA (v') g S| /Mark () against the correct option

q.1 %aﬂaﬁ?qm%a?ma’lml

The additive inverse of % will be

(%)
(§)

QI TIa

..........

9.2 7EFI‘EFI%I / The cube of 7 is -

(%)
(§)

9.3 ferioRad deaet | | gl sadE 2|

49
343

10x2=20
H - >
(@) ab
@) 242
(@) 3 @ ®E T/ None of these

Which of the following numbers is a perfect cube -

(%)
(¥)

T4 T TG % AR R0 R GRTEAE |

125
24

()
@)

60

36

The sum of the four angles of a quadrilateral is -

(%)
(§)

180°
90°

()
@)

360°

45°

9.5 e 7xy H xy FIU0F & | /The coefficient of xy in the expression 7xy is

(%)
(®)

X

7

()
@)

y

Xy
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9.6 5 (x+y) & IUHEERS &NT | /The product of 5 (x + y) will be -
(&) 5x+5y @ 5’ +y
(@)  5x+ 5y (@) W EREE/None of these
97 343 T TS FE —
What is the cube root of 343 -
(31) 9&/side €)] fererun/ diagonal
Q) 1/ hypotenuse () =MaR/base
U8 I UNEA TR S ST HHF I F O &l 2 |
A rational number that is equal to its negative value.
) 0 & 1
@ -1 @ W4 F12 721/ None of these
9.9 13824 F1 IHS FMERT | /What will be the cube root of 13824?
() 24 (). .56
@ 18 (@ 26
.10 e AR 100 &, o 98 T st &M -
If the base is 100, then the deviation of 98 will be -
) -1 & +2
® -2 @ -5
s Tl 9 9fd IR/ Fill in the blanks. 5x2=10
T11 GRS o (R0 W ... AdE | (FHE / EEH)
The diagonals of a rhombus are mutually .................. (equal / unequal)
9.12 3 GRAT G0 OGRS & ... g1 (IR /)
The product of two rational numbers is always ............... (Rational/Irrational)
9.13 el a6g & @E TR G Floo.. FEAE | (FATA / [T T
The purchase price of a commodity is called ....... (cost price / selling price)
14 (1) x (1) x(-1) = eririiiiieeen (-1/1)
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915 Tk WHT TS STEh] Tl YT e al ........... FEA 2 |
(TS / TR )

A quadrilateral whose adjacent sides are equal is called

(Rhombus / Parallelogram)

H&l Sl e FIT, / Match the correct pair. 5x2=10
916 THIE TGS F GRS (F) AR x 18

Area of parallelogram Base x Height
W17 AEd H RS (@) SR x s

Area of rectangle Length x Breadth
9.18 a™xa" M 4
9.19 316 = 1
9.20 G9 B MFd GEATR | () am*n

The smallest natural number is.
T 1 JAFA IS, / State true or false. 5x1=5
921 forelt forem et 1 o a9 g 2|

Cube of an odd number is even number.
922 Wi 9, T EdE | /Al squares are rectangle.
923 (21)°=1
9.24 TS GREF GEA 3 T ATHE T (- 3) 8, A3 -3 =0

If the additive inverse of the rational number 3 is (- 3), then3-3=0
925 10 F A9 8 | /The Ekadhiken of 10 is 9.
@Wﬁw%ﬁﬂlWritetheanswerinoneword. 5x1=5
926 TS/ simplify: 6 - 1°
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9.27 15 H a1 FA FIW / Find the square of 15.

....................................................................................................................................

------------------------------------------------------------------------------------------------------------------------------------

....................................................................................................................................

9.29 134 ® 4 I THITRRA GET | T S IS HEAT & & |

The new number formed by Ekadhiken Purvena of 4 in 134 is.

....................................................................................................................................

....................................................................................................................................

HiSYIT 921 / Very short answer question

9.31 {7 T UFHS TRITRA T § T HL |
Find the product of the following by Ekadhiken Purvena method.

98
x 92

104
x106
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9.32 ElﬁH@S F1d & :/ Find square root -
) 144 9 V400

....................................................................................................................................

....................................................................................................................................

....................................................................................................................................
....................................................................................................................................
....................................................................................................................................

....................................................................................................................................

9.34 foIeA 1 a9 G FIRC |/ Find the square of the following.
A (32) 9 (11)

....................................................................................................................................

....................................................................................................................................

9.35 FEAETETH G ERI URS Zd N |
Find the product by using Urdhvatiryagbhyaam formula.

) 12 ) 16
x15 x 34

[ ] ]
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SYSTA 5/ Short answer type questions - 5x4=20

9.36 Tk &4fh 1 GG 9o 20, 000 &G4 2| Al IGF I § 10% hg Bl & ol ST 74T Iae
fohae & m 3T ®IsT@ | /The basic salary of a man is Rs. 20,000. If his salary is

increased by 10% then what will be his new salary.

....................................................................................................................................

....................................................................................................................................

9,37 e QHIRT H x ST HE T aﬂﬁmed the value'of x in the following equation-

....................................................................................................................................

3(x+4)=3
-3 4 1 3
— X - +=>X =
4 5 5 4
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9.39 A 4 U4 F1 T 20 T & AT 10 U FT A fhaelt &R /If the cost of 4 pens is Rs.

20, then what will be the cost of 10 pens?

o haN LN N o NN ha
940 fe 99 F1 aE 12 S8, 8 a1 B faw 9.8, gem)
If the diameter of the circle is 12 cm. what is the length of the radius?

....................................................................................................................................

oSl v / Long answer type questions 10x2=20

Y41 IO % @ H S 2000 98 & (EH 30% I TEER a9 Y FAIN I8 € | qqgd 0
% Wd H [ha< FhaR, 34 & |/ There are 2000 trees in Ganesh's field in which
30% trees are for shades and rest are fruit bearing trees. Find the number of

fruit bearing trees in Ganesh's field.

....................................................................................................................................
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942 i T 91EA 5 S 92 | 15 fRHL F gl a9 T E df 20 S 9IS H ared fhad

.51 T 11| /If the vehicle covers 15 km in 5 liters of petrol. How many km

does the vehicle will cover in 20 liters of petrol?

....................................................................................................................................
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